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補充單元練習題 2: 二重積分與體積

ø. tú|-�®áí	}–域 R, 1l�ù½	}∫∫
R

f(x, y)dA

1.
∫ π

0

∫ π/2

0
sin2 x cos2 y dydx j. π2

8

2.
∫ 6

0

∫ 3

y/2
(x + y)dxdy j. 36

3.
∫ 1

0

∫ 0

y−1
ex+ydxdy +

∫ 1

0

∫ 1−y

0
ex+ydxdy

j. 1
2(e + e−1)

ù. tø-�®áù½	}[As�.°	}ß序íMŸ

	}, 1JjZíß序l�|Ê–域 R ,íù½	}.

1.
∫∫

R
xydA;
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R: J (0,0), (0,5), (3,5), D (3,0) Ñ«õ

íÅj$.

j.
∫ 5

0

∫ 3

0
xydxdy =

∫ 3

0

∫ 5

0
xydydx =

225

4

2.
∫∫

R

y

x2 + y2
dA;

R: â y = x, y = 2x, D x = 2 F圍|íúi

$.

j. ∫ 2

0

∫ y

y/2

y

x2 + y2
dxdy+∫ 4

2

∫ 2

y/2

y

x2 + y2
dxdy

=
∫ 2

0

∫ 2x

x

y

x2 + y2
dydx = ln

(
5

2

)

3.
∫∫

R
xdA;

R: Ê�ø象Ìq, â y =
√

25− x2,

3x− 4y = 0, J£ y = 0 F圍|í扇$.
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j. ∫ 4

0

∫ 3x/4

0
xdydx+∫ 5

4

∫ √25−x2

0
xdydx

=
∫ 3

0

∫ √25−y2

4y/3
xdxdy = 25

ú. tJù½	}°-�®õñíñ	.

1. Ê�ø卦Ìqâ�Þ 2x + 3y + 4z = 12 F圍|

íõñ. j. 12

2. Ê�ø卦Ìqâ曲Þ z = 1− xy, �Þ y = x, J

£�Þ y = 1 F圍|íõñ. j. 3
8

û. tl�-�®áMŸ	}. (Tý: Û>換	}ß序)

1.
∫ 1

0

∫ 1/2

y/2
e−x2

dxdy j. 1− e−1/4
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2.
∫ ln 10

0

∫ 10

ex

1

ln y
dydx j. 9

3.
∫ 1

0

∫ arccos y

0
sinx

√
1 + sin2 x dxdy

j. 1
3(2
√

2− 1)
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